PAGE  
1

Richard III Act 2
Act II scene 1

1. Fill in the gaps.
King Edward, who is very _______, rejoices that he has united enemies and made _________that will keep the kingdom in order after his ________. Richard swears that he is committed to this ________. When Elizabeth asks the King to be reconciled to __________, Richard strikes with news of Clarence’s death, killed by the order of the _______, even though he had reversed it. Edward is saddened that he had been so rash. He _______ that this act of injustice will have serious repercussions. Richard tries to create new _________ between the two factions, insinuating that the __________ allies actually killed Clarence.

peace – sick – fears – death – enmity – King - Queen’s – alliances - Clarence

2. The theme of appearance and reality (or the link between actions and words) is central to this text. In this scene, King Edward tries to reconcile Elizabeth’s brother (Rivers), her son (Dorset), Hastings and Buckingham. Find all the terms which refer to promises and false appearances, and explain the effect of this semantic field. Do you think that this reconciliation is genuine?
3. How does Richard make a black joke at his own expense in line 91?
4. To the right of this speech, match the summary page 74 to King Edward’s lines. 

Have I a tongue to doom my brother's death,

105
And shall the tongue give pardon to a slave?   

My brother killed no man; his fault was thought, 

And yet his punishment was bitter death.   

Who sued to me for him? Who, (in my wrath) 

Kneeled at my feet, and bade me be advised? 

110
Who spoke of brotherhood? Who spoke of love? 

Who told me how the poor soul did forsake 

The mighty Warwick and did fight for me? 

Who told me, in the field by Tewkesbury, 

When Oxford had me down, he rescued me,   

115
And said “Dear brother, live, and be a king”?   

Who told me, when we both lay in the field 

Frozen almost to death, how he did lap me 

Even in his garments and did give himself 

(All thin and naked) to the numb-cold night? 

120
All this from my remembrance brutish wrath   

Sinfully plucked, and not a man of you 

Had so much grace to put it in my mind.   

But when your carters or your waiting vassals   

Have done a drunken slaughter and defaced   

125
The precious image of our dear redeemer,   

You straight are on your knees for pardon, pardon, 

And I, unjustly too, must grant it you.   

But for my brother, not a man would speak,   

Nor I, ungracious, speak unto myself   

130
For him, poor soul. The proudest of you all 

Have been beholding to him in his life,   

Yet none of you would once beg for his life.   

O God, I fear thy justice will take hold   

On me and you, and mine and yours for this!

135
Come, Hastings, help me to my closet.

Ah, poor Clarence!

5. In this same speech, explain what two things King Edward contrasts. 

6. In this speech underline the examples of rhetorical questions and circle the oppositions. Explain the effects of these techniques.

7. Why does Richard blame the Woodvilles in line 140?
Act II scene 2

1. Fill in the gaps.
Richard’s _________, the Duchess of York, realizes that Richard has killed __________ and fears what will happen when the king is dead. Elizabeth enters to announce ______________. Elizabeth, ___________, and the children of Clarence all proclaim sorrow, but the Duchess claims the greatest grief since she has lost the most with the death of her two sons. Elizabeth’s

advisors council to be __________ and to send for the young prince Edward so he may be ___________. Richard enters to give his __________ and to confer with the others about the company to be sent to get the prince. Buckingham urges Richard to join in the embassy so they can plan how to _________ the prince from the Queen’s family.
Edward’s death – comfort – the duchess – mother – moderate – separate – Clarence - crowned
2. On page 77, the Duchess of York hides the truth from her grandchildren. Find the lines in which she is lying.

3. Why does she finally admit their father’s death in line 19? 
4. In lines 20-26, Clarence’s son explains how Richard acted towards him. The audience knows that Richard was lying, but not the boy (this is called dramatic irony). What actions does the audience know are appearance only? What does this manipulation show about Richard’s personality?
5. In lines 27-30, what words show the Duchess of York is aware of her son’s lying nature?

6. Look at the metaphor in line 28. What does it mean and what effect does it have?

7. On page 79, Queen Elizabeth is said to appear “with her hair about her ears”, which was a traditional symbol of grief in Shakespearian times. In addition to this, this page is full of references to death, loss and grief, coming both from Elizabeth and the Duchess of York. Note down these expressions.
8. In lines 72-79, Shakespeare uses the technique of antanaclasis, which is a pun (play on words) in which a word is repeated and its meaning shifted. What is the effect of the antanaclasis here?

9. In lines 41-70, find the four metaphors (some with several images associated) and fill in the table below, and explain the effect.

	Image
	What the image stands for
	Effect

	1. branches
	Children
	Why should children survive when their father is dead? Natural metaphor used by Elizabeth to show the grief she feels when she sees her grandchildren, who remind her of the loss of her own son. 

	
	Parent
	

	leaves
	
	

	
	blood
	

	2. two mirrors
	
	

	
	Richard
	

	3. 
	
	This image shows she relied on these sons to help her (maybe in her old age).

	4. springs/currents
	
	


10. In lines 89-95, Dorset, Queen Elizabeth’s son, explains that Edward was on loan by God to Elizabeth, and that God has now taken him back. She should be thankful for the time he was lent to her for. Find all the terms which refer to lending, and its consequences. Is this a comforting argument?

11. Rivers, Elizabeth’s brother, also has advice for her, although not on a religious tone, but a more practical one. What technique does Shakespeare use to show he is being practical?

12. What does Rivers advise Elizabeth to do?

13. What does the metaphor line 102 mean? Is it sincere?

14. Why do lines 109-111 show Richard does not take his mother’s blessing seriously?

15. In lines 112-132, Buckingham makes a persuasive speech, that a small escort should be sent to Ludlow to escort Prince Edward for his coronation. Fill in the table below with the metaphors he uses, explain them, and discuss how persuasive they are. The first example is done for you.

	Image
	What it stands for
	Persuasive?

	1. reap the harvest of his son
	Enjoy the benefits of the new king
	Persuasive because it’s true: they need a new king rapidly

	2. 


	
	

	3. 


	
	

	4. 
	
	


16. In the last lines of this scene, Buckingham promises to separate the Woodvilles from Prince Edward, and Richard says they are of the same mind. Richard uses language which would have been characteristic in Shakespearian times of the character of the Vice in the Morality plays (see also in act III), who would flatter (and therefore use hyperbolic language) in order to deceive. Find the terms which are hyperbolic.

Act II scene 3

1. Fill in the gaps.
Several ________ discuss recent events—the death of Edward and promised reign of his ______. They fear that this will be a __________ time for the state since the prince is too ________ to rule and there is a strong _________ between his ________ on both sides.

Young – rivalry – dangerous – citizens – son – uncles 

2. The plot is not at all developed in this scene. What therefore do you think its function is?

3. The 2nd and 3rd citizens make four pessimistic points about the future of England under the rule of Prince Edward. Find the quotes which correspond to these points.

A. The world will be chaotic
B. It is a bad thing that the country be ruled by a child

C. Those who will rule in his place will struggle and are dangerous

D. Everyone is afraid
4. Despite being ordinary people, the citizens use stylised language and imagery. Identify the images in lines 34-7 and 44-6. Explain them and decide how effective they are. 

5. In the previous scene Elizabeth asked two rhetorical questions: “Why grow the branches, when the root is gone? / Why wither not the leaves that want their sap?” Now the 3rd citizen echoes this with line 35, “When great leaves fall, then winter is at hand.” Why it is significant that the citizen echoes Elizabeth?

Act II scene 4

1. Fill in the gaps.
__________, the young Duke of York, Queen __________, and the Duchess of York await the arrival of the __________. A messenger arrives to report that Lords ________ and Grey and Sir Vaughan have been imprisoned on the orders of the Dukes __________ and ______________. Fearful of the outcome of this power struggle, Elizabeth decides to place herself and her son in ______________. 

Elizabeth – sanctuary – Rivers – Gloucester – Richard – Buckingham – prince 

2. What metaphor does the young Duke of York (son of Edward) use which shows he has also been influenced by his uncle Gloucester (like his cousin, Clarence’s son, in Act II scene 2)?

3. What descriptions of Richard’s infancy are designed to repulse us?

4. What news does the messenger bring?

5. Elizabeth uses a hunting metaphor in line 53. Who is the “tiger” and who is the “gentle hind”? Why is this metaphor effective?

6. What does she oppose Richard’s “insulting tyranny” to on page 91?

7. As a woman, the Duchess of York says she has seen her family suffer. Make a list of what she has witnessed.

8. How can you tell the Archbishop pledges his loyalty to the Queen?

9. Look back at the exchanges between Richard and Buckingham and chart the growth of their relationship during the act.
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